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mg 2x10
= 4000 pa : &b

Amin 50 X102
Amin = 50 cm? = 50 x 10~*m? mg  2x10

TA,... 200x104

m=2kg

Pmax_

P, = = 1000 pa

Appax = 200 cm? = 200 X 10~ *m?
AP = P45 — Pmin = 4000 — 1000 = 3000 pa

v

AP =7
S 1S (0 518 (o) 95 o3 T  JUG 9 g @l 3 LG ) T el £ p b (btie o U
fow! 38 9 o8 9 &5 5y zehaw o (S Al 4 bl JIC0L 1T Sl 9 5o HLS S|
m:4kg AP:Pmax_Pmin:I;n.? _Amg G""Iﬁ\/
A A 6= Amin Amax ada AmaxAmin
max — Amin =
16A,,0xApmin = 40 (Amax _ Amln)
$ 80l Sl ¥,0 30d 0 Jloal OT 3 a5 (S LS G oadd 518 my0 g0 ¥V b &0 (59515 (05 V0 e S U5 i U
m mx 10 . 5 v
m=0.1kg PzTg—>2.5= = ->m=0.5kg Xo

A =2 m?
0.5=nx0.1 »>-n=5
P=25pa
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T P, = 100.000 Pa . 10> Pa




h=10m,50m,100m

p=1000"9/
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P=pgh+P, — Pi,= (1000 x 10 x 10) + 100000 = 200000 pa : &=l v

- P5o = (1000 X 10 x 50) + 100000 = 600000 pa
= P00 = (1000 X 10 X 100) + 100000 = 1100000 pa
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hy =30m P=pgh - P{=1000x10x30=300000pa gl v
h, =40 m - P, =1000 %X 10 X 40 = 400000 pa
AP =? AP = 400000 — 300000 = 100000 pa

AP = pgAh =1000 %X 10 x 10 = 100000 pa
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